
Lecture Seven

（灵活类题⺫⽬目讲解 三）
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• 灵活类题⺫⽬目讲解
- 对话类
- 平⾏行结构（LSAT列举）

本节课授课要点

• 灵活类题⺫⽬目讲解
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• 对话类讲解
- e.g. Keith: Compliance with new government regulations 
requiring...
       Laura: The $25 billion spent by some businesses will be 
revenue...

         Laura responds to Keith by?
• 平⾏行结构讲解 （LSAT列举）
- e.g. Which one of the following arguements is most similar 
in its flawed reasoning to the politician's argument?

灵活类题⺫⽬目讲解

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网



• 灵活类题⺫⽬目讲解
- 对话类
- 平⾏行结构（LSAT列举）

本节课授课要点

- 对话类
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1. Roland:  The alarming fact is that 90 percent of the people in this country now report that 
they know someone who is unemployed.
  Sharon:  But a normal, moderate level of unemployment is 5 percent, with 1 out of 20 
workers unemployed.  So at any given time if a person knows approximately 50 workers, 1 or 
more will very likely be unemployed.
   Sharon's argument relies on the assumption that
A.  normal levels of unemployment are rarely exceeded
B.unemployment is not normally concentrated in geographically isolated segments of the 

population
C.  the number of people who each know someone who is unemployed is always higher than 

90% of the population
D.Roland is not consciously distorting the statistics he presents
E. knowledge that a personal acquaintance is unemployed generates more fear of losing one's 

job than does knowledge of unemployment statistics

对话类
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1. Roland:  The alarming fact is that 90 percent of the people in this country now report that 
they know someone who is unemployed.
  Sharon:  But a normal, moderate level of unemployment is 5 percent, with 1 out of 20 
workers unemployed.  So at any given time if a person knows approximately 50 workers, 1 or 
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2. Jennifer:  Video rental outlets in Centerville together handled 10,000 fewer video rentals in 1994 
than in 1993.  The decline in rentals was probably due almost entirely to the February 1994 opening 
of Videorama, the first and only video rental outlet in the area that, in addition to renting videos, also 
sold them cheaply.

  Brad:  There must be another explanation:  as you yourself said, the decline was on the order of 
10,000 rentals.  Yet Videorama sold only 4,000 videos in 1994.

   Which of the following, if true, would most seriously weaken the force of the objection that Brad 
presents to Jennifer's explanation?

A. In 1994 Videorama rented out more videos than it sold.

B. In 1994 two new outlets that rent but that do not sell videos opened in Centerville.

C.  Most of the video rental outlets in Centerville rent videos at a discount on certain nights of the 
week.

D.  People often buy videos of movies that they have previously seen in a theater.

E.  People who own videos frequently loan them to their friends.
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2. Jennifer:  Video rental outlets in Centerville together handled 10,000 fewer video rentals in 1994 
than in 1993.  The decline in rentals was probably due almost entirely to the February 1994 opening 
of Videorama, the first and only video rental outlet in the area that, in addition to renting videos, also 
sold them cheaply.

  Brad:  There must be another explanation:  as you yourself said, the decline was on the order of 
10,000 rentals.  Yet Videorama sold only 4,000 videos in 1994.

   Which of the following, if true, would most seriously weaken the force of the objection that Brad 
presents to Jennifer's explanation?

A. In 1994 Videorama rented out more videos than it sold.

B. In 1994 two new outlets that rent but that do not sell videos opened in Centerville.

C.  Most of the video rental outlets in Centerville rent videos at a discount on certain nights of the 
week.

D.  People often buy videos of movies that they have previously seen in a theater.

E.  People who own videos frequently loan them to their friends.
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3. Mel: The official salary for judges has always been too low to attract the best Candidates to the 
job. The legislature's move to raise the salary has done nothing to improve the situation, because it 
was coupled with a ban on receiving money for lectures and teaching engagements.

   Pat:  No, the raise in salary really does improve the situation. Since very few judges teach or give 
lectures, the ban will have little or no negative effect.

   Pat's response to Mel is inadequate in that it

A. attempts to assess how a certain change will affect potential members of a group by providing 
evidence about its effect on the current members. 

B. mistakenly takes the cause of a certain change to be an effect of that change 

C. attempts to argue that a certain change will have a positive effect merely by pointing to the 
absence of negative effects 

D. simply denies Mel's claim without putting forward any evidence in support of that denial 

E. assumes that changes that benefit the most able members of a group necessarily benefit all 
members of that group.
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4. Finding of a survey of Systems magazine subscribers:  Thirty percent of all merchandise orders placed by 
subscribers in response to advertisements in the magazine last year were placed by subscribers under age 
thirty-five.
  Finding of a survey of advertisers in Systems magazine:  Most of the merchandise orders placed in 
response to advertisements in Systems last year were placed by people under age thirty-five.

   For both of the findings to be accurate, which of the following must be true?
A. More subscribers to Systems who have never ordered merchandise in response to advertisements in the 

magazine are age thirty-five or over than are under age thirty-five. 
B. Among subscribers to Systems, the proportion who are under age thirty-five was considerably lower last 

year than it is now. 
C. Most merchandise orders placed in response to advertisements in Systems last year were placed by 

Systems subscribers over age thirty-five. 
D. Last year, the average dollar amount of merchandise orders placed was less for subscribers under age 

thirty-five than for those age thirty-five or over. 

E. Last year many people who placed orders for merchandise in response to advertisements in Systems 
were not subscribers to the magazine.

对话类

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网



4. Finding of a survey of Systems magazine subscribers:  Thirty percent of all merchandise orders placed by 
subscribers in response to advertisements in the magazine last year were placed by subscribers under age 
thirty-five.
  Finding of a survey of advertisers in Systems magazine:  Most of the merchandise orders placed in 
response to advertisements in Systems last year were placed by people under age thirty-five.

   For both of the findings to be accurate, which of the following must be true?
A. More subscribers to Systems who have never ordered merchandise in response to advertisements in the 

magazine are age thirty-five or over than are under age thirty-five. 
B. Among subscribers to Systems, the proportion who are under age thirty-five was considerably lower last 

year than it is now. 
C. Most merchandise orders placed in response to advertisements in Systems last year were placed by 

Systems subscribers over age thirty-five. 
D. Last year, the average dollar amount of merchandise orders placed was less for subscribers under age 

thirty-five than for those age thirty-five or over. 

E. Last year many people who placed orders for merchandise in response to advertisements in Systems 
were not subscribers to the magazine.

对话类

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网

智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网
  智
课
网



5. Mourdet Winery:  Danville Winery's new wine was introduced to compete with our most popular 
wine, which is sold in a distinctive tall, black bottle.  Danville uses a similar bottle.  Thus, it is likely 
that many customers intending to buy our wine will mistakenly buy theirs instead.

   Danville Winery:  Not so.  The two bottles can be readily distinguished:  the label on ours, but not 
on theirs, is gold colored.

   Which of the following, if true, most undermines Danville Winery's response?

A.  Gold is the background color on the label of many of the wines produced by Danville Winery.

B.When the bottles are viewed side by side, Danville Winery's bottle is perceptibly taller than 
Mourdet Winery's.

C.  Danville Winery, unlike Mourdet Winery, displays its wine's label prominently in advertisements.

D. It is common for occasional purchasers to buy a bottle of wine on the basis of a general 
impression of the most obvious feature of the bottle.

E. Many popular wines are sold in bottles of a standard design.
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5. Mourdet Winery:  Danville Winery's new wine was introduced to compete with our most popular 
wine, which is sold in a distinctive tall, black bottle.  Danville uses a similar bottle.  Thus, it is likely 
that many customers intending to buy our wine will mistakenly buy theirs instead.

   Danville Winery:  Not so.  The two bottles can be readily distinguished:  the label on ours, but not 
on theirs, is gold colored.

   Which of the following, if true, most undermines Danville Winery's response?

A.  Gold is the background color on the label of many of the wines produced by Danville Winery.

B.When the bottles are viewed side by side, Danville Winery's bottle is perceptibly taller than 
Mourdet Winery's.

C.  Danville Winery, unlike Mourdet Winery, displays its wine's label prominently in advertisements.

D. It is common for occasional purchasers to buy a bottle of wine on the basis of a general 
impression of the most obvious feature of the bottle.

E. Many popular wines are sold in bottles of a standard design.
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• 灵活类题⺫⽬目讲解
- 对话类
- 平⾏行结构（LSAT列举）

本节课授课要点

- 平⾏行结构（LSAT列举）
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1.  On the Discount Phoneline, any domestic long-distance call starting between 9 A.M. and 5 P.M. costs 15 cents a minute, 
and any other domestic long-distance call costs 10 cents a minute. So any domestic long-distance call on the Discount 
Phoneline that does not cost 10 cents a minute costs 15 cents a minute.
      The pattern of reasoning in which one of the following arguments is most similar to that in the argument above?

A.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class  does not involve extensive lab work, it will not be conducted 
in a laboratory.

B.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class is not conducted in a normal classroom, it will involve 
extensive lab work.
C.lf a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class  is conducted in a normal classroom, it will not be conducted 
in a laboratory.

D.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class involves extensive lab work, it will not be conducted in a 
normal classroom.
E.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal  classroom. Thus, if a university class is not conducted in a normal classroom, it will be conducted 
in a laboratory.

平⾏行结构（LSAT列举）
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1.  On the Discount Phoneline, any domestic long-distance call starting between 9 A.M. and 5 P.M. costs 15 cents a minute, 
and any other domestic long-distance call costs 10 cents a minute. So any domestic long-distance call on the Discount 
Phoneline that does not cost 10 cents a minute costs 15 cents a minute.
      The pattern of reasoning in which one of the following arguments is most similar to that in the argument above?

A.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class  does not involve extensive lab work, it will not be conducted 
in a laboratory.

B.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class is not conducted in a normal classroom, it will involve 
extensive lab work.
C.lf a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class  is conducted in a normal classroom, it will not be conducted 
in a laboratory.

D.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal classroom. Thus, if a university class involves extensive lab work, it will not be conducted in a 
normal classroom.
E.If a university class involves extensive lab work, the class will be conducted in a laboratory; otherwise, it will be 
conducted in a normal  classroom. Thus, if a university class is not conducted in a normal classroom, it will be conducted 
in a laboratory.

平⾏行结构（LSAT列举）
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2. In university towns, police issue far more parking citations during the school year than they do 
during the times when the students are out of town. Therefore, we know that most parking 
citations m university towns are issued to students.
   Which one of the following is most similar in its flawed reasoning to the flawed reasoning in the 
argument above?
A. We know that children buy most of the snacks at cinemas, because popcorn sales increase as the 
proportion of child moviegoers to adult moviegoers increases.
B. We know that this houseplant gets more of the sunlight from the window, because it is greener 
than that houseplant.
C. We know that most people who go to a university are studious because most of those people 
study while they attend the university.
D. We know that consumers buy more fruit during the summer than they buy during the winter, 
because there are far more varieties of fruit available in the summer than in the winter.
E. We know that most of the snacks parents buy go to other people's children, because when other 
people's children come to visit, parents give out more snacks than usual.

平⾏行结构（LSAT列举）
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2. In university towns, police issue far more parking citations during the school year than they do 
during the times when the students are out of town. Therefore, we know that most parking 
citations m university towns are issued to students.
   Which one of the following is most similar in its flawed reasoning to the flawed reasoning in the 
argument above?
A. We know that children buy most of the snacks at cinemas, because popcorn sales increase as the 
proportion of child moviegoers to adult moviegoers increases.
B. We know that this houseplant gets more of the sunlight from the window, because it is greener 
than that houseplant.
C. We know that most people who go to a university are studious because most of those people 
study while they attend the university.
D. We know that consumers buy more fruit during the summer than they buy during the winter, 
because there are far more varieties of fruit available in the summer than in the winter.
E. We know that most of the snacks parents buy go to other people's children, because when other 
people's children come to visit, parents give out more snacks than usual.
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3. Paleomycologists, scientists who study ancient forms of fungi, are invariably acquainted with the scholarly publications of 
all other paleomycologists. Professor Mansour is acquainted with the scholarly publications of Professor DeAngelis, who is 
a paleomycologist. Therefore, Professor Mansour must also be a paleomycologist.

    The flawed pattern of reasoning in the argument above is most similar to that in which one of the following arguments?

A.When a flight on Global Airlines is delayed, all connecting Global Airlines flights are also delayed so that the passengers 
can make their connections. Since Frieda’s connecting flight on Global was delayed, her first flight must have also been a 
delayed Global Airlines flight.

B.Any time that one of Global Airlines’ local ticket agents misses a shift, the other agents on that shift need to work 
harder than usual. Since none of Global^ local ticket agents missed a shift last week, the airline’s local ticket agents did not 
have to work harder than usual last week.

C.Any time the price of fuel decreases, Global Airlines’ expenses decrease and its income is unaffected. The price of fuel 
decreased several times last year. Therefore, Global Airlines must have made a profit last year.

D.All employees of Global Airlines can participate in its retirement plan after they have been with the company a year or 
more. Gavin has been with Global Airlines for three years. We can therefore be sure that he participates in Global’s  
retirement plan.

E.Whenever a competitor of Global Airlines reduces its fares, Global must follow suit or lose passengers. Global carried 
more passengers last year than it did the year before. Therefore, Global must have reduced its fares last year to match 
reductions in its competitors’  fares. 
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3. Paleomycologists, scientists who study ancient forms of fungi, are invariably acquainted with the scholarly publications of 
all other paleomycologists. Professor Mansour is acquainted with the scholarly publications of Professor DeAngelis, who is 
a paleomycologist. Therefore, Professor Mansour must also be a paleomycologist.

    The flawed pattern of reasoning in the argument above is most similar to that in which one of the following arguments?

A.When a flight on Global Airlines is delayed, all connecting Global Airlines flights are also delayed so that the passengers 
can make their connections. Since Frieda’s connecting flight on Global was delayed, her first flight must have also been a 
delayed Global Airlines flight.

B.Any time that one of Global Airlines’ local ticket agents misses a shift, the other agents on that shift need to work 
harder than usual. Since none of Global^ local ticket agents missed a shift last week, the airline’s local ticket agents did not 
have to work harder than usual last week.

C.Any time the price of fuel decreases, Global Airlines’ expenses decrease and its income is unaffected. The price of fuel 
decreased several times last year. Therefore, Global Airlines must have made a profit last year.

D.All employees of Global Airlines can participate in its retirement plan after they have been with the company a year or 
more. Gavin has been with Global Airlines for three years. We can therefore be sure that he participates in Global’s  
retirement plan.

E.Whenever a competitor of Global Airlines reduces its fares, Global must follow suit or lose passengers. Global carried 
more passengers last year than it did the year before. Therefore, Global must have reduced its fares last year to match 
reductions in its competitors’  fares. 
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4. Watching music videos from the 1970s would give the viewer the impression that the music of the time 
was dominated by synthesizer pop and punk rock. But this would be a misleading impression. Because music 
videos were a new art form at the time, they attracted primarily cutting-edge musicians.

   Which one of the following arguments is most similar in its reasoning to that of the argument above?

A.Our view of pre-printing-press literature can never be accurate; because the surviving works of ancient 
authors are those that were deemed by copyists most likely to be of interest to future readers.

B.Our memory of 1960s TV shows could hardly be improved, because so many of the television programs 
of the era are still rerun today.

C.Future generations, understanding of today’s publishing trends will be distorted if they judge by works 
published in CD-ROM format, since it is primarily publishers interested in computer games that are using 
CD-ROM.

D.Our understanding of silent films is incomplete, because few filmmakers of the time realized that the film 
stock they were using would disintegrate overtime.

E.Our notion of fashion trends will probably be accurate if we rely on TV fashion programs, despite the fact 
that these programs deliberately select the most outrageous outfits in order to get the viewers’ attention.
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4. Watching music videos from the 1970s would give the viewer the impression that the music of the time 
was dominated by synthesizer pop and punk rock. But this would be a misleading impression. Because music 
videos were a new art form at the time, they attracted primarily cutting-edge musicians.

   Which one of the following arguments is most similar in its reasoning to that of the argument above?

A.Our view of pre-printing-press literature can never be accurate; because the surviving works of ancient 
authors are those that were deemed by copyists most likely to be of interest to future readers.

B.Our memory of 1960s TV shows could hardly be improved, because so many of the television programs 
of the era are still rerun today.

C.Future generations, understanding of today’s publishing trends will be distorted if they judge by works 
published in CD-ROM format, since it is primarily publishers interested in computer games that are using 
CD-ROM.

D.Our understanding of silent films is incomplete, because few filmmakers of the time realized that the film 
stock they were using would disintegrate overtime.

E.Our notion of fashion trends will probably be accurate if we rely on TV fashion programs, despite the fact 
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• 对话类讲解
• 平⾏行结构讲解（LSAT列举）

回顾本节课授课要点
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• 考场状态讲解
- 没有⽅方法的状态
- 没有理性的状态
- 完全灵活的状态

预告下节课授课要点
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The End
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